THE PAPAGO TRIBAL COUNCIL RESOLUTION (Request for transfer of BIA Employee)

RES. NO. 356-85

1 WHEREAS, The Papago Council has learned that the Assistant Secretary of Indian 2 Affairs, upon the advice and recommendation of the Director of Social 3 Services, Dr. Ed Brown, will decide to reject the Papago Tribe's 4 appeal protesting the reduction of the Tribe's FY 85 Human Services 5 contract for monitoring costs; and 6 WHEREAS, The Papago Council has consistently rejected the Bureau of Indian 7 Affairs position concerning monitoring and technical assistance 8 9 charges on the grounds that Congress specifically prohibited the 10 Bureau of Indian Affairs from reducing grants or contracts for 11 monitoring or technical assistance costs and because it was contrary 12 to, and a violation of P. L. 93-638; 13 WHEREAS, The Papago Council has been advised of the offer by the Social Services 14 Director in Washington, D.C. whereby the Papago Tribe would agree to 15 return of only \$19,650, such amount reflecting half of the total re-16 tained by the Bureau for monitoring costs, in effect compromising the 17 18 original position taken by the Papago Tribe demanding that the full 19 amount retained by the Bureau of Indian Affairs be restored to the 20 Human Service Contract; 21 WHEREAS, The Director further offered to the Papago Tribe an agreement that half 22 of the monitoring costs would be paid by the Bureau of Indian Affairs 23 and half by the Papago Tribe such amount to be distributed across the 24 board among all of the Tribe's 638 contracts and grants during FY 86 25 and 87; and 2627 WHEREAS, The Papago Tribe has not received competent or efficient services from 28 the 638 Coordinator, Mr. Bill Wilson, and believes it would be in the 29 interests of the Tribe to request the Bureau of Indian Affairs to 30 transfer Mr. Wilson immediately; and 31 WHEREAS, The Papago Council believes it would prevail on the merits if an appeal 32 is made to the Board of Indian Appeals upon receipt of the decision;

RES. NO. 356-85 (Request for transfer of BIA Employee) Page Two (2)

	이 이 것 같은 것						
1	NOW, THEREFORE BE IT RESOLVED BY THE PAPAGO COUNCIL that it does hereby confirm						
2	its original position protesting the action of the Phoenix Area Office						
3	to retain monitoring costs thereby reducing the Human Service Contract						
4	by \$39,300.00 in order to pay salary and office expenses for Mr. Bill						
5 6	Wilson, 638 Coordinator; and						
7	BE IT FURTHER RESOLVED that it is the decision of the Papago Council, in						
8	accordance with Article V, Section 3 (f) of the Papago Constitution,						
9	to request the immediate transfer of the 638 Coordinator, Mr. Bill						
10	Wilson; and						
11	BE IT FURTHER RESOLVED that the Bureau of Indian Affairs restore the full						
12	amount taken at the beginning of the fiscal year 1985 to the Human						
13	Services contract and that upon receipt of the decision by the						
14	Assistant Secretary of Indian Affairs that an appeal be filed with the						
15							
16	Board of Indian Appeals;						
17	The foregoing Resolution was duly enacted by the Papago Council on the <u>13th</u> day of May, 1985, at a meeting at which a quorum was present with a vote of						
18	<u>1440.0</u> for; <u>-0-</u> against; <u>-0-</u> not voting; and <u>02</u> absent, pursuant to the authority vested in the Papago Council by Section 2 (a), (f) and 3 (a), (f)						
19							
20 21							
22	of the date of its approval by the Superintendent of the Papago Agency and is subject to review by the Secretary of the Interior.						
23	THE PAPAGO COUNCIL						
24	1						
25	Varich Marce						
26	Josiah Moore, Chairman						
27	ATTEST:						
28							
29	Ophelia I Campillo Ophelia F. Campillo, Secretary						
30							
31							
32							

RES. NO. 356-85 (Request for transfer of BIA Employee) Page Three (3) RESOLUTION APPROVED this \_23 day of \_ Ma Ban Barber, Superintendent Jame Papago Agency 

OVED: John N	SUBJECT: Request for transfer of BIA Employee					
ECOND: Rosema						
ATE: 05/13/	85	RESOLUTION				
		ORDINANCE # 356-85				
ISTRICTS	REPRESENTATIVES	# OF VOTES	FOR		VOTING	ABSENT
SIF OIDAK	1. Nicklos Jose	52.5	Х			
105	(Alice Norris) 2. Elliott Lewis (Eugene F. Jose)	52.5	Х			
SELLS	1. Andrew M. Patricio	117.5	Х			
235	(Nora Alvarez) 2. XXXXXXXXXXXXX (Dennis Jose)	117.5	Х		~	
SCHUK TOAK		51.5	Х			
103 r	(Priscilla G. Domingo) 2. Joseph Juan ( )	51.5	Х			
SAN XAVIER	1. Carmelita Mattias	60.5	Х			
121	(Julie Ramon-Pierson ) 2. John B. Narcho (Austin Nunez)	60.5	Х	X		
BABOQUIVARI	1. Kenneth Chico, Sr.	101.5	Х			
203	(Donald Harvey) 2. Joann Garcia (Edward N. Kisto)	101.5	X			
GU ACHI	1. Angelo J. Joaquin, Sr.	75.0	X			
150	(Jonas R. Robles) 2. Fernando Joaquin (Fred Adams, Jr.)	75.0	Х			
PISINEMO	INEMO 1. Johnson Jose	52.5	X			
105	(Frank Garcia) 2. XChesxXexXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXX	52.5	X			
SAN LUCY	1. John Reno	25.5	X			
51	(Max P. Jose) 2. Albert Gomez (Jeannie Morris)	25.5	X			
GU VO .	1. Virgil Lewis	53.5	X		-	
107	(Henry F. Manuel) 2. Cross Antone (Fern E. Salcido)	53.5	X			X
HICKIWAN MIC I I. Henry A. Ramon		61.0	X			
122	(Pablo Baptisto) 2. Delma Garcia (Archie Pilone)	61.0	X			
СНИКИТ КИК			x			X
138 .	(Lawrence Jose) 138 . 2. Rosemary Lopez (Anita C. Clark)	69.0	X			
TOTALS		1440.0	1440.	0 -0-	-0-	02

-